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func =: 3 ¢ 7 ((x: x.) + (*: y.)) — (x. *y.)” NB. 60 degree

funcl =: 3 ¢ 7 ((*: x.) + (*: y.)) + (x. % y.)” NB. 120 degree

Flo, INEHEST, ZOEBFEIENEI D ET A NTHBEE tsq 1TRD X H 12
%,
tsq =1 3 : 0
if. 0 = y. do. 0 return. end.
y. =% < %oy
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4 func 8
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5 func 8
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tsq 3 func 8
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X
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X func”(0)/ Y
7 13 21 31 43 57
7 12 19 28 39 52
9 13 19 27 37 49
13 12 13 16 21 28 37 48
21 19 19 21 25 31 39 49
31 28 27 28 31 36 43 52
43 39 37 37 39 43 49 57
57 52 49 48 49 52 57 64

tsq” (0) X func”(0)/ Y
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calc =0 3 : 0 NB. calculate ¢ from a, b, then return a, b, c¢

if. x. =0
do. y. , %: func / y. NB. 60 degree
else. y. , %: funcl / y. NB. 120 degree
end.

)

NB. 60 degree => moris 20
NB. 120 degres => 1 moris 20

moris =: 3 : 0
0 moris vy.
N = .
X=:> 1. N
Y=:>:1. N
XY =: XY NB. generate index pair by using { catalog
V=0 </ L:0XY) NB. extract V index
if. x. =0
do. 7 =1 X func”(0) / Y NB. 60 degree
else. Z =: X funcl”(0) / Y NB. 120 degree
end.
= V*xZ NB. squared values

W=:( tsq”(0) T) # (, XY) NB. flag of squared term index
if. x. =0

do. 0 calec L:O W

else. 1 calc L:O W

end.

)
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NB. 60 degree

NB. moris 20

NB. + } f f } f f

NB. [3 8 7|58 7|6 16 14|7 15 13|8 15 13|10 16 14|

NB. + } f f } f f

NB. 120 degree

NB. 1 moris 20

NB. + } } f } } f }
NB. [3 5 7|5 16 19/6 10 14|7 8 13]9 15 21|12 20 28|14 16 26|
NB. + } } f } } f }
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NB. Morisawa’s Problem
NB.  programmed by T.N. 2011/8/7-9

require ' trig
func =: 3 : 0 NB. 60 degree

((x: x.) + (%1 y.)) = (x. *y.)
)

funcl =: 3 : 0 NB. 120 degree

(et x) + G2y)) + (ko *ky.)

)

tsq =1 3 1 0

if. 0 = y. do. O return. end.
y. =% %y,

)

NB. 60 degree

NB. moris 20

NB. + } t f } t }

NB. |38 7|58 7|6 16 14|7 15 13|8 15 13|10 16 14|

NB. + } t f } } }

NB. 120 degree

NB. 1 moris 20

NB. + f } } f f } f
NB. 357|516 19/6 10 14|7 8 13|9 15 21|12 20 28|14 16 26/
NB. + f f } j } | ,

calc = 3 : 0 NB. calculate ¢ from a, b, then display a, b, ¢

if. x. =0
do. y. , %: func / vy.
else. y. , %: funcl / y.
end.

)

NB. 60 degree => moris 20
NB. 120 degres => 1 moris 20
moris =: 3 : 0



0 moris vy.

..
X=:> 1. N
Y=:> 1i. N
XY =t XY
if. x. =0
do.
Z =1 X func”(0) /Y
else.
7 =1 X funcl”(0) /Y
end.
V= (0 </ L0 XY)
T=:V=xZ
W=:( tsq”(0) T) # (, XV)
if. x. =0

do. R = 0 calc L:0OW
else. R =1 cale L:0O W
end.
R
)

NB. calc. overall for 60 degree and 120 degree, then sort them
morisn =: 3 : 0

RA =. > moris vy.

RB =. > 1 moris vy.

RC =. RA, RB

RO = [.7(1) > RC

R1 =. RO /: RO

([.7:21) 7(1) RrR1

)

NB. lengths of triangle => XY—coordinate of points
NB. revised 2011/9/13

NB. Usage: triaxy a, b, ¢ => AXY, BXY, CXY

triaxy =: 3 : 0

sinC = (%: 3) % 2

abc = y.

sinA =. sinC * a % ¢

sinB =. sinC * b % ¢

A B = (180 % 1pl) * arcsin sinA, sinB

if. 180 = 120 + A + B
NB. 120 degree
do.



"BXY AXY CXY' = (0, 0); (({:y.), 0); ({.y.) * ((cos , (-@sin)) 1r180pl
* B)
NB. 60 degree

else.
if. 180 = A + B + 60
do. B= B
else. B=. 180 - B
end.
"BXY AXY CXY' =. (0, 0); (({:y.), 0); ({y.) * ((cos, sin) 1r180pl * B)
end.
BXY; AXY; CXY
)

NB. calc. diameter and center of circumcircle for J graphics
circle =: 3 : 0
((60%180)*1pl) circle y. NB. 60 degree

sinC =. sin x.
C = (180 % 1pl) * arcsin sinC
abc = y.
% (2 * sinC)
(r * sin x.), (r * cos x.)
NB. diameter, circ—rectangle positon for J graphics
(2%r), ((0{cent)-r), ((1{cent)-r)
)

r =.

o

cent

NB. Graphical Representation
require ' gl2’

MORISA=: 0 : O
pc morisa;pn “Morisawa’s Problem”;
menupop “File”;

nonn oy onr,

menu new ~&New ;

menu open “&0pen” *” 7" "

menusep

menu exit “&Exit” 77 77 77,

menupopz

xywh 215 8 34 12;cc Triagl button;
xywh 216 104 34 12;cc cancel button;cn "Exit”;
xywh 8 5 198 184;cc triangle isigraph;
xywh 215 67 34 11;cc Circ button;

xywh 215 30 34 11;cc Triag2 button;
xywh 216 86 34 11;cc Clear button;

xywh 215 48 34 11;cc Triag3 button;



pas 6 6;pcenter;
rem form end;

)

dataset =: 3 : 0
n= _3{ i. 3 *xy.
n { morisn 40

)

run =: morisa_run

morisa_run=: 3 : 0

wd MORISA

NB. initialize form here
DA =: dataset y.

"BB AA CC' =: triaxy 1{ DA
"BB AA DD’ =: triaxy 2{ DA
"BB AA EE’ =: triaxy 0{ DA
CIR =: circle 1{ DA

wd * pshow;’

)

run0 =: morisa_run0
morisa_run0=: 3 : 0

wd MORISA

NB. initialize form here
"BB AA CC’ =: triaxy 5 8 7
"BB AA DD’ =: triaxy 3 8 7
"BB AA EE’ =: triaxy 3 5 7
CIR =: circle 5 8 7

wd ~ pshow;’

)

morisa_close=: 3 : 0

wd’ pclose’

)

morisa_cancel_button=: 3 : 0
morisa_close’’

)
SC =: 50 NB. Scaling Factor
OR =: 220 NB. Origin of Graph



morisa_Triagl button=: 3 : 0
NB. X-Y coordinate

glrghb 0 0 O

glpen 1, 0

gllines 50, OR, 950, OR
gllines OR, 50, OR, 950

NB. Triangle Graph

glrgb 255 0 0

glpen 4, 0

NB. gllines 100 500 900 500 500 800 100 500
NB. gllines BP, AP, CP, BP

gllines OR + SC * BB, AA, CC, BB

glshow ’’

)

morisa_Triag2_ button=: 3 : 0
glrgh 0 0 255

glpen 4, 0

gllines OR + SC * BB, AA, DD, BB
glshow ’’

)

morisa_Triag3_button=: 3 : 0
glrgb 255 0 255

glpen 4, 0

gllines OR + SC * BB, AA, EE, BB
glshow ’’

)

morisa_Circ_button=: 3 : 0

NB. Circle Graph

glrgb 0 255 0

glpen 2, 0

glellipse (OR + SCx1{CIR), (OR + SC*2{CIR), (SC*0{CIR),
NB. X-Y coordinate

glrghb 0 0 0

glpen 1, 0

gllines 50, OR, 950, OR

gllines OR, 50, OR, 950

NB. Trianglel Graph

glrgb 255 0 0

glpen 4, 0

gllines OR + SC * BB, AA, CC, BB

,10,

(SC*0 {CIR)



NB. Triangle2 Graph

glrgb 0 0 255

glpen 4, 0

gllines OR + SC * BB, AA, DD, BB
glrgb 255 0 255

glpen 4, 0

gllines OR + SC * BB, AA, EE, BB
glshow ’’

)

morisa_Clear_button=: 3 : 0
glclear ’’

NB. X-Y coordinate

glrgh 0 0 0

glpen 1, 0

gllines 50 500 950 500
gllines 500 50 500 950
glshow *’

)
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